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Check Point 10.1-10.3
1. A A is asegment with endpoints on the circle.
a. chord b. secant
c. tangent d. radius

2. Find the measure of arc RU. A

a. 60° b. 120° N
c. 240° d. 300° “
3. Find the measure of arc RUS. C i s
a. 60° b. 120° ‘v
c. 240° d. 300° ‘
4. To show that AB=CD, what other piece of information must
we have? FE=EE e
A
5. Given FE=EG, solve for x is D
AB = 3x+ 1and CD = 5x.
B
3x+1=bx
1=2x
x=1/2
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10.4 Inscribed Angles & Polygons

An inscribed angle is an angle whose vertex is
on a circle and whose sides contain chords or
rays of the circle.

A
<ABc
inscribeg intercepted
angle are
A
<

An Intercepted arc is an arc that lies
between two lines, rays, chords.

Inscribed angles are not central angles
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Measure of an Inscribed Angle Theorem

The measure of an inscribed angle is one half the measure
of its intercepted arc. o

m/ADB = 1mAB
*If given the angle, then double to find the arc.

*If given the arc, 1/2 to find the angle.

Find the measure of the arc or the angle.

@ oy mAC m/ABC

have 0“5\?-
neea o

70x2=
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Try on your own: Find the measure of the arc or the angle.

a. mADC
B ZRBC=9a0°
~ ‘ ° ’
™M Ac: \80
D
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If two inscribed angles of a circle intercept the same arc,
then the angles are congruent.

A

o

B

ZADB = £ ACB
Sk-v-c ’p\\g

*Works both ways!

It is given that mZ B = 44°.
What is mz C?

R4 C
m < C=494°
~
~MmRD = %&0 D
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A quadrilateral can be inscribed in a circle if and only if its
opposite angles are supplemen‘faQ/.

. . sumito (&OP
' NZrErlen)
E £
LE 1 LG =§0°
LF + LD =182°
D G
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An ynscrebed ‘\‘rlMgle_ whose  Side
tshe diamekr wiill be o

'+Y(a»3l&
/\ PCi s chameder
P“— 4 B=ap°

Find the value of each variable.

<cis Rt ovgle

X+ %5=l-§b %0+y =1gd
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